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Introduction

You now have only a few months to go until
the exam but you still have plenty of time to
revise. You can make sure that you are well
prepared by using past exam papers. This
will help you to really understand the type
of exam you will face. It will make it easier
to work through the many topics you have
covered since first year.

Remember

M Check the lay-out of the exam paper.
How are the questions set out?

M Take note of the time you have to an-
swer the paper -two hours.

M For every topic, look through the exam
papers for questions asked on that topic.
Make sure that you can answer these ques-
tions. Write out sample answers.

Sectionl
2013:QUESTION11-AID

Circle the correct option for each of the fol-
lowing statements.

(i) Bilateral aid is given by charitable organ-
isations. True/False

(ii) Emergency aid is given in times of cri-
sis, eg natural disasters. 77ue/False

(iii) Development aid is short-term aid.
True/False

Commonerror

Each correct answer is worth one mark. A
common error is that students get the dif-
ferent types of aid mixed up.

2013:QUESTION 18-ORDNANCE SURVEY
MAP

Intheboxes provided, match each of the let-
ters in column X with the number of its pair
in column Y. One match has made for you.

Column X ColumnY

A |S 955 386 1 |Garda Station
B | T 009 381 2 |Moated Site
C |S953374 3 |Golf Course
D |T 001313 4 |Spot

OOl > X<
=N N w| =<

Note
Red text above indicates correct answers.

Commonerror

Each answer is worth one mark. Some stu-
dents make mistakes when reading grid ref-
erences.

2011QUESTION 6-WEATHER
INSTRUMENTS

Examine the photograph at left and com-
plete the paragraph below.

“This white box is known as a Stevenson
screen. Temperature is measured within
the box using a maximum and minimum
thermometer. Also found inside the box is
ahygrometer which measures humidity .

Commonerror

Some students are unsure of the different
weather instruments and what they are
used for, eg the hygrometer.

Section2

2012 QUESTION1B-VOLCANOES

(i) Name one example of a volcano.
(ii) With reference to the diagram below,
explain how volcanoes occur.

Answer

(i) Mt Etna, Sicily. (Two marks)

(ii) A volcano is a mountain that forms
from the eruption of volcanic material.
Mostvolcanoes will form at or near the edg-
es of plates. This is because the crust is
weak. In the diagram shown in this ques-
tion, the crustis being pushed apart by mag-
ma rising up from the mantle. This is an ex-
ample of a constructive plate boundary, eg
the Mid-Atlantic Ridge.

The weakened crust allows hot molten
magma to force its way up through cracks
in the crust. It will then erupt as lava onto
the surface. Ash, dust, cinders and gases
are also blown out during the eruption. All

Above: 2012
question 1B,
diagram 1;

Top: Mount Etna;
Left: 2011
question 6, a
Stevenson screen

this erupted material will build up around
the point where the eruption occurs. Each
eruption adds material to the growing vol-
cano.

Studenttip

Make sure you have clear statements such
as those outlined above. Make sure you ex-
plain each statement.

Commonerror

The answer should have at least one refer-
ence to the diagram. Many students do not
dothis.
2013-QUESTION1C-RIVERFEATURE

(i) Name one feature formedbyriver depo-
sition and explain with the aid of a labelled
diagram, how it was formed.

Marking scheme

M Name of landform: one mark.

M Diagram: one mark.

M Explanation: eight marks.

-Two statements: two marks each.

- Explaining each statement: two marks
each.

Answer

B Name of landform-levee.

M Seelevee diagam above.

M Description

—Aleveeisabuild-up of deposition beside a
river channel. It will most likely form in the
lower course/old-age stage of ariver.

- These features have formed along many
rivers including the River Liffey and the
Mississippi.

M Formation

—In the lower course will transport a large
load downstream. This is all the material
carried or moved by the flowing water.
This includes light material such as clay
particles carried in suspension. Heavier ob-
jects such as stones and pebbles will be
rolled and bounced along the river bed.
—-Deposition will occur when the river chan-
nel fills with water and floods the land be-
side the channel. This area is called the
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Flood Plain

Levee

Levee

Flood Plain

2013 question 1C, diagram 2

Mountain

2008 question 1A, diagram 3
Figure 5
Month J F M A M J J A S 0 N D
Tempin °C 9 11 13 16 21 25 26 27 19 17 15 12
Precipitation in mm 71 55 28 19 5 5 3 0 6 16 60 79
Daily hours of sunshine 3 4 5 7 9 10 11 11 8 5 4 3
floodplain. - This fall in temperatures will occur be- -Thisreferstothe directionthataslopefac- PartB

-Deposition happens because the floodwa-
ters lose energy and cannot carry all of it’s
load. The heaviest part of the load will be
dropped on the river bank, beside the river
channel. The lighter materialis carried fur-
ther from the channel and is deposited
across the floodplain.

-Overtime, each flooding adds new materi-
al. A sloping ridge will form beside the chan-
nel. This is the levee.

WEATHERAND CLIMATE
This is a popular topic. You should look at
examples of previous exam questions.

2008 QUESTION1-CLIMATEAND
PEOPLE

PartA

Diagram 3 above shows a mountainous
area in Europe. Explain two reasons why
you would expect the place labelled “X” on
the diagram to be colder than the place la-
belled “Y”.

Marking scheme

B Two reasons at five marks each.

M Each of the five marks is divided into
three marks for a clearly stated reason and
two marks for explaining.

Answer

The place labelled “X” will be colder than
the place labelled “Y” for the following rea-
sons:

Il Reason1-Altitude.

- This is height above sea level. This has an
influence on climate because, as the height
of land rises, temperatures become colder.
Temperatures will drop by at least 1°C for
every 150 metre increase in height.

cause air at higher altitudes is not able to
hold heat.

- Temperatures will also drop because up-
land area such as the place labelled “X” will
be less sheltered and exposed to colder
winds.

-Lowland places such as “Y” will have high-
er temperatures and are also better shel-
tered.

M Reason 2- Aspect.

es. In Europe, south facing slopes, such as
at “Y” will directly receive the sun’s rays
and will be warmer. They also benefit from
warmer winds blowing up from the south.
- North facing slopes in Europe, such as at
“X”, are colder because they are not direct-
lyreceiving the sun’s heat. They are also ex-
posed to colder winds blowing from the
north.

Tourist Numbers

N0 O

Thousands of Tourists

J F M A

M

2008 question 1B, graph of Spanish coastal visitors

The graph below shows the numbers of
tourists who visited a coastal resort in
Spain over the course of a year.

(i) Which is the “peak” or busiest tourist
month at this coastal resort?

(ii) Using the information in the table (fig-
ure 5: weather report), explain three rea-
sons why so many people visited the resort
during its peak tourist month.

Marking scheme

M Name the peak month: one mark.

B Three reasons at three marks each.

- Each of these three marks is divided be-
tween two marks for stating the reason and
one mark for explaining the statement.

Answer

(i) The “peak” or busiest tourist month is
August.

(ii) Three reasons why so many people visit-
ed this resort during the peak month are:
M Reason 1-High temperatures.
Temperatures in August reach an average
of 27°C. This is the hottest month of the
year. This will attract people from colder
parts of Europe such as Ireland.

M Reason 2-Low rainfall.

August does not receive any rainfall and is
shown as Omm. This would attract people
from areas thatare more likely to have rain-
fall at that time, eg Northern Europe.

M Reason 3-Sunshine.

The table shows that August has up to 11
hours each day of sunshine. This means
thatthereislikely to be long periods during
the daytime with sunny conditions. This at-
tracts people from areas such as Ireland
where there is more likely to be cloud cover
atthat time of the year.
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INTRODUCTION
Students should be aware that at least one
of the five questions in section 2 asked will
refer to the ordnance survey map and the
aerial photograph. It is very important for
students to examine and practise answer-
ing these questions.

Students are advised to source the refer-
enced exam papers to gain maximum bene-
fit from the sample answers below.

2013 QUESTIONS5-AERIAL
PHOTOGRAPH SKETCHMAP

PartA

Examine the aerial photograph supplied
with this paper (top right).

M Draw a sketch map of the whole area
shown on the aerial photograph.

M On your sketch map, show and label
each of the following features:

—Arailway bridge.

-Ariver.

—-Two connecting streets.

—Acastle.

Marking scheme

Ten marks divided as follows:

M Naming each of the four features: one
mark each.

M Showing each of the four features: one
mark each.

M Correct shape and orientation: two
marks.

Commonerrors

M Some students lose marks by drawing
the wrong shape for the frame, ie a square
shape instead of the rectangular shape of
the 2013 aerial photograph.

M Students may also lose marks by using a
dotor symbol to show an area. Instead they
should indicate the size of the named area.

Answer
See figure 1: sketch map.

Part B(i)

Name and locate using correct terms (right
background, etc) an example of each of the
following economic activities:

—Primary.

-Secondary.

—Tertiary.

Marking scheme
M Naming each activity: one mark each.
M Locating each activity: one mark each.

Answer

—Primary activity:

Farming activity in the right background
—-Secondary activity:

Factory located in the centre mid-
dle-ground.

—Tertiary activity:

Retail/shopin the right foreground.

Part Bf(ii)

Choose any one of the examples of the eco-
nomic activities named above and explain
tworeasons whyitis atits presentlocation.

Marking scheme
M Stating eachreason: one mark each.
M Explaining each reason: one mark each.

Answer
Reasons for farming in the right back-
ground.

Aerial photographs and ordnance survey maps

-Reason1

The land in the right background is lowly-
ing. Soils will be deeper and it makes it easi-
er to farm using machinery.

—Reason 2

Theland in the right background is likely to
be well drained by the river. This makes it
less likely that the land will become water-
logged and flooded.

PartC

Examine the ordnance survey map sup-
plied with this paper (far right). Explain
three reasons for the location of the indus-
trial estate at S 977 419. For each reason in-
clude specific evidence from the ordnance
survey map to support your answer.

Marking scheme

Ten marks for the three reasons. There
were divided as follows:

M Four marks for one reason splitup as fol-
lows:

- Statement: two marks.

-Explaining statement: one mark.
—Evaluation of answer: one mark.

M Three marks for the other two reasons
split up as follows:

—Statement: one mark.

-Explaining statement: one mark.
-Evaluation: one mark.

Answer

Three reasons for the location of the indus-
trial estate at S 977 418:

—-Reasonl

The estate is built on a very gently sloping
lowland site (Statement). The grid area of S
97 41 shows wide spaces between the con-
tour lines. This means that there are few or
no obstacles to the building of factories. It
also allows for the future expansion of the
estate.

-Reason 2

The industrial estate is located there be-
causeit has easyaccessto the road network

T

ph of Carrick-o

n-S

hannon. Photograph: State Examinations Commission

Key

1. Railway Bridge

2. ARiver

3. Two connecting streets
4. A castle

2013 question 5, figure 1, sketch map

Map Key

1. Railway Line +H+H-

2. Built-up area of Carrick-On-Shannon @
3. Area of Natural Woodlands @

4. River Shannon

2012 question 5, figure 2, sketch map

(Statement). A national primary road, the
NI1, runs beside the estate. Access is provid-
edbyathird classroad at S 976 422. This al-
lows access for raw materials and supply of
services and products to other parts of the
country.

—Reason 3

The industrial estate is located at that site
because it is beside the town of Enniscor-
thy (Statement). It is just about 1 km to the
north-east of the main built up area of the
town. The town will provide workers for
the factories and businesses on the estate.
The town will also provide important sup-
port services, eg the post office located at
S 974 397.

Commonerror

Some students do not provide the threerea-
sons needed for the answer. Others do not
explain the reason or do not use map evi-
dence in the answer. It is very important to
refer to the map when answering this type
of question.

2012 QUESTIONS5-AERIAL
PHOTOGRAPHS AND ORDNANCE
SURVEY MAP

PartA

Examine the ordnance survey map provid-
ed (above right). Draw a sketch map of the
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area shown on the ordnance survey map.
On your sketch map show and label each of
the following features:

—-Therailway line.

—The built up area of Carrick-on-Shannon.

—Anarea of natural woodland.

—Theriver Shannon.

(10 marks)

Answer
See figure 2: 2012 sketch map.

PartB

The area shown on the ordnance survey
map has along history of settlement.

- Name, locate and explain, using six-fig-
ure grid references, any two examples of
historic settlement on the map.

Answer

Two examples of historic settlement on the
map are:

-Examplel

There is a crannog located at G 946 038 in
the northern part of the map. Itwas aliving
place that was built on a lake, ie Lough
Naseer. An artificial island would have
been built in the lake. It would have been
reached by boat. The people who lived
there are likely to have farmed the land
around the lake. The crannog offered peo-
ple who lived there a safe living place. It
dates from the iron age or Celtic times.
—-Example 2

There is a megalithic tomb located at
G 886 015 in the north-western part of the
map. This is a burial ground where large
stones were placed. The tomb would also
have been built to allow people to remem-
ber and honour their dead. This historical
feature dates from the neolithic period

(new stone age). It is likely that people set-
tled here because the surrounding land al-
lowed farming. There were also close to a
fresh water supply.

PartC

With reference to the ordnance survey
map and aerial photograph provided, ex-
plain three reasons why Carrick-On-Shan-
non (and the surrounding area on the map)
isan important tourist destination.

Answer

Carrick-on- Shannon (and the surrounding
area)is animportant tourist destination be-
cause:

-Reasonl

Boating activities: the River Shannon is
large enough for boating leisure activities.
This can be seen from the aerial photo-
graph. Amarinaislocatedin therightback-
ground. This is an important local stopping
point for leisure boats. The fact that the ma-
rina is built here suggests that a large num-
ber of boats are using the river.

—-Reason 2

Cycle route: the Kingfisher cycle route be-
gins in Carrick-on-Shannon at M 943 998.
It follows a north-east route until
G 980 025 where it then moves in a
north-west direction. This allows people to
view the surrounding landscape and other
features of interest such as historical loca-
tions.

-Reason 3

Touristinformation office: thisislocated in
the centre of Carrick-on-Shannon at
M 939 994. This is an important local ser-
vice for tourists as it will give them informa-
tion about the town and the other facilities
available there. As it is located in the town,
it can be easily accessed, eg from the N4.

Above: 2012,
question 5,
ordnance survey
map of Carrick-on-
Shannon

Right: 2013 ques-
tion 5, ordnance
survey map of
Enniscorthy.
Maps: Ordnance
Survey Ireland

At a glance - The exam paper

Thereareatotal of 150
marks awarded for the
exam paper. Thereare
two partstotheexam
paper, section1and
section 2.

Section1-60 marks
Thereare 20 questionsin
this section. Youhaveto
answer all of the ques-
tions. Ifyoudonotanswer
aquestionyou will lose
marks. Evenifyouare not
sure of some of the
answers, make sure that
youatleasttrytoanswer
eachquestion. Section1
accounts for 40 per cent
ofthetotal exam mark.

M Eachquestionis worth
3marks.

M Eachanswer needsto
be short,eg giveaname.
B Some questions will

provide multiple choice
answers.

M Usuallythree orfour
questions will be about
the ordnance survey map.

Youcanallowupto
forty-five minutes to
answer section 1. This
thengivesyouatleasttwo
minutestoanswer each
question. Do notrush
downyouranswer. Think
carefully.Markscanbe
easily gained butthey can
bejustaseasily lostifyou
arecareless.

Note

The section1folder must
be handed back with your
answer book.

Section2-90marks
Thereareatotal of five
questionsin section 2.

Eachquestionis worth 30
marks. Students must
choosethree questionsto
answer. ltis betterto
focus onanswering three
questions well rather
thantryingtoanswer four
orfive ofthe questions
poorly.

B Eachquestionis
divided into three or four
parts. Ifyou pickaques-
tion,you havetoanswer
each partofthat question.
M Atleastone question
willbe aboutthe ord-
nance survey mapand the
aerial photograph.

M Onequestionis
headed “geographical
mix”. Thiswillincludea
number of different
topics.

M Youcanallowupto 25
minutes answering each
ofthe three questions.

96 ' Laong. 06 35w a7

30010 987314 ooy

=l

\ £
Y &
S ]

31%

Junior Cert Easter Intensive Revision Course

Monday, 14 April - Friday, 18 April 2014.

The Institute of Education
79-85 Lower Leeson Street, Dublin 2

Experience great teaching and get exam-focused, expert notes.
Book online at ioe.ie, call 01 661 3511 or email info@ioe.ie.




